1. (14 pts) The graph of total cost and variable cost for producing hats are given. The z-axis is

given in hundreds of hats and the y-axis in hundreds of dollars. -
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(b) At what quantity is the average cost equal to 5 dollars per hat?
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(¢) Compute the marginal cost at 400 hats.
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MC(4) = 2. 43 dollars per hat
(d) The market price is $140 per hat. Find the maximum profit. (include units)
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. (12 pts) The graph shows the price per share (in dollars) of the stock Technigraphics (TG) over
a 12-month period. Let T'G(¢) represent the value of the stock at ¢+ months.
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(a) Translate the following statements into functional notation:

TG
e “The slope of the diagonal line to the T'G graph at ¢’ = t

e “The rate of change of T'G over the h-minute interval starting at 3 months”
TG+ = TG (2)

_ n
TG(t+0.1) - TG(t
(b) Find all times, ¢, at which (t+ 3 i ®) = 2.00.
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lFerenence e Answer(s): t = 2.6 ¢ a8 months

(c) Sure-Thing stock (ST) starts at $10 per share and its price increases by $4.00 every month.
i. Give the time at which both stock prices have the same overall rate of change.
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ii. Find the time at which the price of the TG stock exceeds that of the ST stock by the
largest amount.
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3. (5 pts) Your company produces Things.

8 @
Each dot in the graph at right gives the change 7
in costs to produce the next thing. For 66 @ °
example, the dot at (0, 9) means that the costs 5
go up by 9 dollars when you go from producing 0 4
things to 1 thing. 3 ° ~
2 (o]
. . _ —_— .
(a) What is the marginal cost at ¢ = 6 things? (1) * o * | things
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MC(6) = 2 dollars
(b) If fixed cost is 45 dollars, what is the total cost of producing 3 items?
TC (a) = &S 4
+ 9
Tce() = 54 D ¢
L 3
TCE)=__ 5 dollars
4. (6 pts) For a different business, the total revenue and total cost are given by:
b 25
TH{x) = %E and TC(z) = 41 + ~2—x,
where z is in hundreds of items and T'R(z) and T'C'(z) are in hundreds of dollars.
At what quantity is profit equal to zero? Give your final answer to the nearest item.
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profit is zero when you produce and sell Ol 8 Lz' items.
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5. (8 pts) Your company produces items. Ut RS
The graphs of marginal cost, aver- 6 AN
age cost, and average variable cost d
for producing items are given. The S T
quantities are in items and MC, AC, 4 e e
and AVC are in dollars per item. BEP + B
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(a) Give the Breakeven Price. LNG
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(b) The current selling price is $4.25 per item. What quantity maximizes profit?
»

Mr =425 = mc(;) -
| b [43.5-44.57
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(c) Compute Variable Cost at 18 items and figure out the value of F’Q
Q‘VC—(\%\B ® = !/'Elru\ = Nclley= 3.9 - Sep

../f
AcCigy = 2 £/4en = TCUB =718 = 1206

49 — 59
Fe = Tclie -velle) X 7]
=lee-39 =772 VC(18) = 5(1‘ dollars
Lées -3
FC=__142  dollars

6. (5 pts) Harry is taking a class that has 5 exams that are equally weighted (4 midterms and a
final). The instructor says the lowest midterm score will be replaced with the final score. Harry’s
midterm scores are 32 78, 94, and 60. What final exam score does Harry need to get in order to
end the class with an 80 percent average on his tests? Show and explain your work!
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Final Exam Score = L




